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( New Course ).

Full Marks : 80
Pass Marks : 24

Time : 3 hours

( Public Finance )

. O HERE Ted feE 1x8=8
Answer the following questions :
(@) ‘TFERE 2
~ What is ‘Public Finance’?
(b) FE SRR IRl e Medr FHifH
e Fema Aife” e TR Fidfee ?
Name the economist who named

principles of public finance as ‘Principle
of Maximum Social Advantage’.
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(c)

(d)

(e)

(9)

(h)

(2)

e’ e R g 2
What do you mean by ‘budget’?

CAGI-3 7 h{cbr fora |
Write the full form of CAGI.

944 TS gy T4 |

Mention one canon of taxation.

AT F99 96 e Seasy 47 |

Mention one demerit of indirect tax.

SR T WF A T oS 4] B @
<1 2[Ten SeEY 97 |

Mention any one difference between
public  expenditure and  private
expenditure.

g6 e’ 2

What is ‘deficit financing’?

2. Y B ot : 4x4=16

Write short notes on :

(@)

(b)

P7/304

el e AR
Scope of Public Finance

IR ACHG

Performance Budget

( Continued )



(c)

(d)

3. (a)
(b)
4. (a)

p7/304

(3)

ESIRECIRIEEY

Non-tax Revenue

A I FIANOTIR

Canons of Public Expenditure

(330] qrerEdl e ogco! I 41 | 14

Explain the Keynes theory of public
finance.

51/ Or

“Jremal Req EIsPE oo (R IR,
Ao Hfde Tt Fama oo JFFve
3¢9 1”7 3 TS A F41 | 14

“The best system of public finance is
that which secures the maximum social
advantage.” Discuss this statement.’

‘e e e & W2 [eR e
fafSn =fZePR S0 S0 41 | 3+11=14

What do you mean by ‘Financial
Administration Discuss briefly the
various instruments of Financial
Administration.

( Turn Over )



(b)

(b)

P7/304

(4)

S<T1/ Or

Spifsfe s’ o 2 ArErR 5 R0
ISR w3 Rfw TRz e |
3+4+7=14
What is Zero-based Budgeting’? What
are its features? Discuss the various
steps involved in Zero-based Budgeting.

IR e 2z Ritw Sopmz & &9
PR AT Tme weR T
(P 312 9 2 3+6+5=14
What is ‘Public Revenue’? What are its
various sources? How does it help in the
economic development of a country?

S3<Y / Or

RS E R NI St —
I APPSR et 5 | 3+11=14

Define ‘Taxation’. Discuss the main
characteristics of g good tax system.

%«ﬁmwﬁ@m SO IR T o{f3eqr
TAE ST 3597 | 7+7=14
Discuss  the effects  of public

expenditure  op production  and
distribution

( Continued )



(b)

(S)

¥2q1/ Or

e RS SRR TPTRY OIS
9 R aft 2Rerer Grdl AW 177 SRR S
G Fesfes @R AT A Woo FREHR
FYLF Al 91 | 14
“Public Expenditure has a tendency to
grow very fast in modern times.” Briefly
discuss the factors responsible for the
rapid growth of public expenditure.

( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

( Public Finance )

1. oR LEEE Teq ford 1x8=8
Answer the following questions :
(@) @IRFE T b = TEy 90|
Write the name of a merit good.
(b) TS TERS FHRY FEY PRI MET T
CELN;

p7/304

Which of the following is not a source of
revenue of Central Government?
(i) SEFS
Income Tax
{ Turn Over )




(c)

(d

(e)

(6)

(@) = SR
Corporation Tax
(i) $f¥ Iz
Land Revenue
(iv) ST s

Import Duty

it RS e 5 9

What do you mean by deficit financing?

1O i T aﬁﬁwmﬁmw
SO AT I W g (OSEE 3 o9
S P 1”7 G JIS 7 9

“Direct tax is one which is actually paid

by the person on whom it is imposed.”
Who defined jt?

T S 997 75 TR e o |

Mention two main causes of tax evasion.

() SH® IEI 2015-16 @ A

P7/304

% 1 Ry 2

What is-the exemption limit of income

tax (personal) as per Union Budget,
2015-167?

( Continued )



(9)

(7))

cTafAsca «rf 391 iRy F99 T SeaE 9 |
Mention a tax levied by municipal
corporation.

(h) TeRER et 9ft R &fE Soms 7411

Write a special feature of federal
finance.

2. o9 G fon (R cee wif<er) 4x4=16

Write short notes on (any jfour) :

(@)

(b)

()

(@)

(e)

p7/304

Rl el g
Role of Public Finance

*mfefes qRand CRNEPHR

Characteristics of Zero-based Budgeting

R T S e TaR qee 1Y

Difference between Public and Private
goods

T AF AP TGS AP

Differences between Tax and Non-tax
revenue

S BT
Gram Panchayat

( Turn Over )



3. (a)

(b)

4. (a)
(b)

5. (a)
P7/304

(8)

Wwwﬁﬁ@@w SIS 1T
SISO | 12

Explain the rationale of public finance
in the present-day scenario.

9T/ Or
e AT AR wgch < ST
AT SR | 19
Critically explain the Principle of

Maximum Socia] Advantage’,

T PR =i’ RECIIR )
SISRCEHE] | 1

State and explain Adam Smith’s Canon
of Taxation.

Y[/ Or

T I TIN5 oy | R Boqmree
(W)WWWWI‘%‘GW? 3+8=11

Define taxable capacity. Discuss the

factors  which affect the taxable
capacity.

R TR/ I FHPTR 94 Teiler (e
CPCAHRE, e 19O | T
What are the factors responsible for the

growth of public expenditure in g
developing €conomy? Discyss.

( Continued )



(b)
6. (a)
(b)
7. (a)
(b)

p7/304

(9)

¥« / Or

T HF [Reqed oo SRl e 2o

ST M I 4 | 11
Explain the effects of public expenditure
on production and distribution.
G TR (PR Sl F 4 | (Bl
Discuss the techniques of budgetary
control.
%<1/ Or
SRS (T S PR e [{EH TImoR
FCATGATE AT SSRCERT | il
Critically examine the Central-State
financial relation in India.
oeq b R ST AR SCesel
401 1l
Discuss the recommendations of
Fourteenth Finance Commission of
India.
341/ Or

T S (T A[ @rel I R
PRPIYZ, S 41 | 11
Discuss the reasons behind the
increasing burden of external debt in
present-day India.

( Turn Over )



(10 )

( New Course )

Full Marks : 80
Pass Marks : 24

Time : 3 hours
( Mathematics )

1. oo il @RI Teq fra - 1x8=8

Answer the following questions :

(@) 9O @R S gforea & e 2
What do you mean by gradient of a line?

(b) R-TAMFT igee fi |
Define a cofactor.

(c) RIfvaR SiREcs @A @61 LPP-1 s <fa
I ?

When can an LPP be solved b
method?

(d) e>* I SEFers e o
What is the derivative of e5* ?

(e) C=® TS @1 GO 64 foreq |

Write the equation of a line in the
intercept form,

() T AT o R gm0
What do you mean by a unit matrix?

(g) (I AT A9 LPP Tere 3fRfe 2
Who first developed LPP?

(h) ARG R 5wy gy |

Define a rational number,

y graphic

P7/304 ( Continued )



(11)

2. (@ () (2, 5) Fr e R REm @eEs
SR Sfered | 5

Find the equation of the line joining
the point (2, 5) and the origin.

(i) b1 @R ca fefEr o AR 33 W
ey ffBR ~Ees 1287 2@ R
fofeter e 2 3
The sum of three terms of an AP is
33 and their product is 1287, find
the numbers. :

(iii) i a? + b2 =14ab, (SER'TE AT F4
A

log {-1— @+ b)} = Lioga +logh
4 2 4

If a® + b2 =14ab, then prove that
log {l (a+ b)} = l(logcrL +log b)
4 2
(iv) (x o) B (3, 0) ¥ (-5, 10) Rrga =
STEE® AFCe 2T F91
Sy-4x=29 4

If the point (x, y) is equidistant from
the point (3, 0) and (-5, 10), then
prove that 5y —4x =29.

p7/304 ( Turn Over )



(v)

(b) (i)
(it)
(iii)
P7/304

(12 )

G 1), (g, yp) I (x3,y3) &Y
fofior sz fosem T fogm e
fAefa 411 5

With the help of a diagram, find the
area of the triangle joining the

‘points (x, y), (x2, y,) and (x3, ys).

S[T1/ Or
WW@W%W? 2

What do you mean by Cartesian
coordinates?

O TR (L, —2) Rl oy weq
qE TR fs % ¥, @ICER SNeq
399 3
A straight line passes through the
point (I, ~2) and its gradient js -;.

What will be its equation?

ST 9 : 4
Solve :

DX~ 3 ot Sx— 3
a1 Wz (Given)

log;02=0-3010

( Continued )



(13 )

(iv) 137 100 e R Reres ka3 =<
5@%@@@6@@%%@@1 4

Find the sum of all integers from 1
to 100 that are not divisible by 3
and 5.

(!)} [5’ 2): (37 7)1 ('17 4) [ ('—1, 1] ﬁﬂi
mﬁﬁ?{ﬂmﬁmﬁ?ﬂmﬁﬁ@aml 5

Find the area of the parallelogram
formed by joining the points (5, 2),

3. (a) (i) fafs 3ferca fo @2 2
What do you mean by a
determinant?

(i) &N CTINA
Prove that

a b e
2 b2 c*|=abca-bp-dlc-a
(8]

a3 b3 3

i) W BA-2B+X=0 7y, IO

4 2 = |
A:[1 Jw B=[ e 2} oo

e X 9 3 [ ? 4

p7/304 ( Turn Over )



(iv)

(v)

() ()

P7/304

( 14 )
4 2
If3A-2B+Xx=0 where A=[l 3]

-2 1
3 2
value of matrix X.

w (o 2

and Bz[ J, then find the

2x-y 3z+w 0 13
o, (O ’za;gy,zwwawﬁfm? 4

If X-Yy 2x+z o | R =
2yt 8zt |8 0 13
then find the valye of x, y zand w.

(I 309 2qeqst SR 70 <y - 5
Solve by using Crammer’s rule -
X-Yy+z=4
2x+y-3z=0
3x+y+z=6

[/ Or

4 -1] 18
* 5] =
(O x F y T {97 2 2

If x [_;J + y[;l] =[ iz }, then what

will be the value of x and y?

{ Continued )



(15)

(i) STHIEE 41 3
Solve :
x 00
2,1 +«3|=3
01 4
(i) b1 et qfer<s fora | 4

Write the properties of a
determinant.

(iv) dNTFA A
Prove that

S (I P
a b cl=@-bpbE-dlc-a
bc ca ab i

(v) CREPTa TS 2t PR I 1 : 5
Using matrix method solve :
2x -3y =5 5
4y+5z=6
6x + 7Ty =20

4. (@) () T78 ved K f 2

Define a surplus variable.

(i) Temeas et Racy afb g G fora o 3
Write a short note on simplex
method.
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(16 )

(i) o573 71 LPP 9 taw Soqmest foyey - 4
Write the dual df ‘the following LPP :
TR TH fefg 31 (maximize)

Z =3x +5x, +4x5
AATF (subject_ to)

2x; +3x, <8
2x5 +5x5 <10
3x_1 +4x3 <15
X1, X3, X3 20

(iW“ﬂWﬁ%‘ﬁﬁﬂWPWQ
ITE RN e @ el e
T%BﬁaAWesalWW%%ﬁaB

80 T/ [ p w oot A
HIR 3 /% wWR R g
S T/, T 0 © fs e
4qw%ﬁrﬁqu2qw%BﬁqB
BR[0T AR Prow wRRE v
SO LPP § SR 297 <641 | 4

A housewife wishes to mix two
types of food Pand Qin such a way
that the vitamin contents of the
mixture be at least 8 units of
vitamin A and 11 units of
vitamin B. Food P costs & 60/kg
and food Q costs & 80/kg. Food P

P7/304 ( Continued )



{ 17 )

contains 3 units/kg of vitamin A
and 5 units/kg of vitamin B while
Food Q contains 4 units/kg of
vitamin A and 2 untis/kg of vitamin
B. Formulate the LPP to minimise
the cost of the mixture.

(v) GRF 2MAR GRAe wwe fmr LPP I
I 41 : 5

Solve the following LPP by using the
graphic method :

figeg 79 49 91 (Minimize)
Z =20x + 40y
AT (subject to)

bx+y=18
x+4y =12
2x+y=10

%yz0

%91/ Or

(b) (i) LPP 3feicet & &1 2 : )
What do you mean by LPP?

(i) LPP S (700R acaremmer ey o | 3
Write about the necessity of duality
in LPP.
(iti) LPP 3 SfeyRapz ¢ 2 4
What are the assumptions of LPP?
p7/304 { Turn Over )



(iv) @RF TR w&Ecs S 1 -

(v)

5. (a) (i)

P7/304

(18 )

Solve graphically :

RS I [ 91 (Maximize)
Z =3x+4y
HMCACH (subject to)
2x +2y <80
2x +4y <120
%xy=20

WWLFPEWWW&W@T
fescer® SR toaR 5 5

Form the first two simplex tablaeu
to solve the following LPP :

RS I 7 F91 (Maximize)
Z =10x; +6x, +4x,
EPICF (subject to)
X; + X5 + x5 <100
10x; +4x5 +5x3 <600
2x; +2x5 +6x5 <300
X, Xg, X3 20

x+1
x+2

f(%}ﬁ'mﬁmﬂ?

If y=f(x) ___x_+1’ then what is the
X +2

M y=flg= A, (OERE

value of f (l)o

X

( Continued )



p7/304

(i)

(iii)

(iv)

(v)

(19)

W= & 41 - 3
Find the value of

x2 -3x+2

lim 5

x22 x“ +x-6
o [f(x) T T GoTea el (xR
A function f(x) is defined as follows

-X , x<0
flx) = x5 <kl
2i—X v, x=21
Tl X = 1 © SAoRA ? 4
Is the function continuous at x =1?
dy Yx -1
Zagm ey = A |
dx e o1 4
Find Ezﬂ'fory:‘/;'l
dx Jx+1

x 9 & 99 @ ©ER TR I g2

I S 2 ? 5

For what value of x the following
function is maximum or minimum?

y=4x3 -15x% +15x -2

( Turn Over )



(20)

2§l / Or

b) () y=4x3-9x2+28x-68 T Y 7
2 dx

I+ e 2 2
If y=4x> —-9x? +28x - 68, what is
the value of El—!i?

dx

(i) T fefq 3= 3

Find the value of

X2

lim
x—1 J3x+1—JSx—1

(i) i (1) y=x3 log L, s 71 @
X

4
prove that
xd—zy—2@+3x2=o
el -
(iv) SEFTET AT ol fordr F OR Al
%x’awﬁq’@:wn 4

Write the first principle of derivative

and hence find the derivative of

o=

(v) 2x° -21x? +36x-20 ¥ JZSH
S U] T+ fefy 51 | 5

Find the maximum and minimum
values of the function

2x3 Z21x2 1 36x -20

p7/304 { Continued )
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( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours
( Mathematics )

1. oS Rl RN T I 1x10=10

Answer the following questions :
(@ @A

Find the value of

log 73 9

(b) TR N T ECE ?

What is an arithmatic series?
(c) I foyef 1

Find the value of

13 40
o3

(@ [; i}[i 2] BE ox 9% y 9 IF

R 2
G272 ° 2 | what are the vat
y3—43,waaretevues

of x and y?
(e) LPP ¥ “&® (@l SfH%E Ffee 2
Who had invented the method of LPP?

p7/304 : * ( Turn Over)



(22

() @R foam sRwe @fem LPp smim <
T2 -

When can an LPP be solved by graphic
method?

(g) foem® R st foy |
Define a perpetuity.

(h) v 3o et & a2

What do you mean by compound
interest?

() T FE QI 2
What do you mean by a function?

() y=5x° +éx§’@1’, %EWW?

Ify=5x3 + lx, what is the value of~d—y ?
5 dx

2. fa) () (2,5) =% (0 -5 R pEEERm, o
What is the distance between the
points (2, S) and (0, - 5)?

(@) 37 log. m +log, n =1log, fm+n),
CCRE m F n I TR T o
PP 31 3

Iflog. m +log, p = log, (m + n), then
find m as 5 simple function of n.

P7/304 ( Continued )



(23)

(iii) 4 +44 +444 +--n B M 18 TR
FHf2 44T T4 1 4
Find the sum of 4 +44 +444 + ...
up to n terms.

) -2 W% 23 R@f @ =
@AEER TR Sfed oE ©R cml
wPFagq R e 4 5
Find the equation of the line
passing through the points (5 —2)
and (2,3) and hence find the
intercepts on the axes.

¥2<§1/ Or

(b) (i) 5+/5 SftMCeTE 125 9 ok g w11 2

Find the logarithm of 125 to the
base 5+/5.

@) (11, 18) R (3, 4) wF (7, 11)
R R @A @@ 7 Sgeiee fies
IER? 3
Find the ratio in which the point
(11, 18) divides the join of the
points (3, 4) and (7, 11).
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(24 )

(iv) BTSN e A9 fR o It W 26
o PRet meme 216; i fofi
e 2 B
The sum of three terms in a GP is
26 and their product is 216. Find'

the terms.
3. (a) (i) TS IF QL2 2
What is a matrix?
(i) ST 4T 3
Solve :
a a a
b x x|=0
c b a
(i) 3 (19 A=(j g hi) ¥ (and)
3 8.5
B=|-1 3 4|, (SRR’ (AB)'-3
2. +0
9 ¥ (then find the value of
(AB)" ). : 4
(iv) (TR 3G A R T 47 5
Solve by Crammer’s rule :
X+2y—-z=9

2x~-y+3z=-2
3x+2y+3z=9

P7/304 ( Continued )



(25 )

5«1/ Or

(b) (1) 23 5
-1 4 -3 | (%S 4 I AZ-TANS

6 0 -6
& 2 5.
What is the cofactor of 4 in the
following matrix?

2 ignin5
-1 4 -8
6 0 -6

b 8] 244 | .l
o @ aof2 3} o 22

F AX =B, (IR x; S x5 9 T4
& 2 ' 3

rgeln e flupad W | 9] ang
o P dil Y il P

AX = B, then what are the values of
x; and x,?

(iig) 29T PN
Prove that
a b (&)
a-b b=c c=al|=a®+b3+c3 +3abe
b+c c+a a+b 4
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(26 )

(iv) T (1)
172 o
A=l 1 2
ale 1
oeRE AL 9 99 e 0 5

then what is the value of Aty

4. (a) () s T e @ 2

What do you mean by a sinking
fund?

(i) = 599 =R 12% 2W Yoo 3 I=7
W 5 ARG e e AW 432 B
275 b AR e 2 3

The difference in simple interest on
a certain sum of money for 3 years
and 5 years at 12% p.a. is ¥ 432.
Find the sum.

(iii) Regam S =R 5% T [0 3 /K
arqfe S e [ed 1A 21350 B
%' 5o AR T 2 4

The difference between compound
interest and simple interest on a
certain sum of money at 5% p.a. in
3 years is ¥ 213:50. Find the sum.

p7/304 ( Continued )



(27 )

(iv) 9% TECZ A4l I=IF WS 5,000 GoE
TS T W@ | I @ A9 7R 6%
v TS S [l T, (SR 10
"R Prre @ @1 AzeE 3 Rm
BT =19 7 5

A man deposited & 5,000 at the end
of every year in a bank at 6% p:a.
rate of compound interest. What
sum will he receive from the bank
at the end of 10 years?

5<1/ Or
(b) (1) ﬁﬁ@ﬁ?@iﬁﬁﬁ{@? 2

What do you mean by a deferred
annuity?

(i) 9%9F B3 10 <=ge oY w8 F'TH
T oS P Tmae SeRE e
2’37? 3
A sum of money doubles itself in

10 years in simple interest. In how
many years will it triple itself?

(iii) ﬁwm?iﬁﬂf%w%mﬁ@@
4,500 B 4_% e | od A IZ7
CR® 1,480 591 ¢ fadly 1221 o
1,560 5 ARens wRet | wgmm o
ARem IR T o6 wIy T
CTFS Jo R 51 fig anifarg 2 4
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(28 )

A person borrowed ¥ 4,500 @ 4%
p-a. in compound interest. He paid
back ¥ 1,480 at the end of first year
and ¥ 1,560 at the end of second
year. How much money should he
pay at the end of the third year to
make good his loan?

(iv) <61 @R IeB 1,00,000 537 o 2
G 20 T2 | WM 9 T© 20 21
Pre o Tg1 @ 3= @l e
20% @R 2’7 | afeqeE IR 5% S
2 foe 9 51E w9 wfRE 20 1=
fPree o[t cafomm s g cifew = o
9?2 5
The cost of a machine is ¥ 1,00,000
and its life period is estimated to be
20 years. After 20 years the
machine is expected to cost 20%
more over the present value. Find
the sum to be invested every year at
5% p.a. in compound interest for
20 years to replace the machine.

5. (@) (i) 78 v ferca & qEo 2

What do you mean by a surplus
variable?

(i) LLP I SR=eM R0 Scew 41 | 3

Discuss about the limitations of
LPP.

P7/304 ( Continued )



(29)

(iij) LPP 9 sMfafes =nf¥chr fsr | 4

(iv)

(b) (1)

(%)

p7/304

Write the mathematical model of
LPP.

wwe il LPP 3 (3Re mfer sfiace
ST 90 : 5
Solve the following LPP by graphic
method :

Paoy T Fefy 1 (Minimize)
Z =20x + 40y

ICACF (subject to)
6x+y=>18

X+4y=12
2x+y=210
%yz0

w249/ Or

SN ST A5 o | 2
Deﬁne unbounded solution.

TS TP S e Lpp 3
ﬁﬁﬁfﬁ,ﬁml 3

Write the scope of LPP in solving
business problems.
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(30)

(i) @S M LPP-9 (7® SToeo! fora 4
Write the dual of the following LPP :
Sfgey I 147 31 (Maximize)
Z =10x; +15x,

TR (subject to)
2x, +x5 <26
2x, +4x, <56
X —Xo 25
Xy, X9 20

(iv) 9Bl EPANE TN F (FA S
FIR I AT FOAE, TG W
TINST SRSl OTe 7l 41 | G
GFT TH HE (FAro qe FAO 2 b
HE 5 W 2@, Sfeed @ed |
ST LPP 3 S &M 41 | 5

A company produces jam and jelly.
The amount of raw materials,
labour and machinery to produce
each product and their availability
are given below. Profit from each

unit of jam and jelly are ¥ 2 and ¥ 5
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respectively. Formulate the LPP to

maximize profit.

TN ceat Rigic
Jam Jelly Availability
L Ve 4 1 24
Labour
™ 1 3 21
Machinery
GBI
Raw 1 1 9
materials
6. (@) () y=e* 7 TTFeT [FA2 2

What is the derivative of y = e%*?

() A flo)=2x2 -5x+4 =W, ('
x 316 I 903 21 () = f(2x) T2 3
If f(x) =2x? - 5x +4, then for what
value of x will 2f(x) = f(2x)?

(i) = Ry =0 4
Find the value of

\/2+x2 —.‘/2—x2
x2

lim
x—0
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(32)

(iv) Tfi-y=Ae®™ + Be™ 2™ oid 9 A

If y=Ae?™ +Be™ 2™ prove that
2
Loy =dm
Cbc2

4§/ Or

2y=0

(b) (i) xe* I TEFeS Aefy w41 | 2
Find the derivative of xe*.
(ii) == g = 3
Find the value of
: 3x% —2x2 +1
e, =
x> x* 1ox2 45

(i) W (1) y--—+Jx, RSN @
Jx
(show that)
D c_i’g +y= 2x
dx

(iv) c{s A flx)=x> -6x> +9x-8
ToE 3280 T4 x =1 © W FTOA A
xXx=39 3 | 5
Show that the - function
f)=x3-6x2+9x-8 has a

maximum value at x=1 and a
minimum value at x =3.

* ¥

p7—-8000/304 5 SEM TDC PUFC/MTH 1 (G/S) (N/O)



